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English Version

Answer any five questions. 10 x 5= 50

1. Find the mean and the median from the following
frequency distribution : 10
Value Frequency
Below 10 4

" 20 16

" 30 40

" 40 76

" 50 96

" 60 112

" 70 120

" 80 125
2. Find the coefficient of variation of marks from the
following frequency distribution : 10

oﬁ:ﬁ 4 | 20-30| 30-40 | 40-50 | 50-60 | 60-70
I\Is‘;f;:enrtsf 2 35 | 46 | 12 5

3. (a) Prove that the absolute value of the

correlation coefficient does not depend on
the change of origin and the scale. )
(b) Find the value of the correlation coefficient

from the following data : 5
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4.  For the variables x and y, the equations of the
two regression lines are 4x-5y+33=0 and

20x-9y-107=0. Identify the two regression

equations of y on x and of x on y and find the
value of Ty What is the estimated value of y

when x = 10 ? If y, be this estimated value,

what is the estimated value of x when y=y, ?

X 48 35 17 23 47

y 45 20 40 25 45
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10
S. Find Fisher's Ideal index number from the
following data : 10
o Base year Current year
Commodities - - - -
Price | Quantity | Price | Quantity
Rice 2 8 4 6
Wheat ) 10 6 5
Fish 4 14 S 10
Milk 2 19 2 13
6. Find by ratio to moving average method the

seasonal indices from the following data of
Quarterly sales :
Quarterly sales of produced commodity

(in '000 rupees) : Quarters — 10

| Years I II III v
1995 197 188 176 194
1996 202 193 179 198
1997 206 196 183 203
1998 210 201 188 206
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Find the value of the coefficient of Kurtosis from

the following frequency distribution : 10
Class Frequency
0-5 1
5-10 4
10- 15 3
15-20 9
20 -25 2
25-30 1

Using an appropriate interpolation formula, find

from the following data the value of y when

x=18: 10
X 10 12 15 19
Y 22 35 35 90

()

(b)

()

For any three sets A, B and C show that
ANn(BnNnCY=(AnB)n(AnC). 5
If the universal set U={x|x<40,xeN }
and A = { x |, x is a prime number and
x<5}, B={x|, xis an even number }, are
subsets of U, find the sets ANnB and
B-A. 5
Prove Bayes' theorem on conditional

probability. )

RSEREERE
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(b) 6 unbiased coins have been thrown. Find

the probability of

(i) getting at least 4 'heads' and

(ii) getting at most 2 'heads'.
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